

County Distribution Detail Report through 06/02/2023

Aurora

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	873	2,090	23	2,986	\$3,732.50	\$89.37	\$3,643.13	0.70	\$2,550.19
							Entity Tota	al:	\$2,550.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,550.19
Beadle									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,873	11,003	443	14,319	\$17,898.75	\$379.67	\$17,519.08	0.70	\$12,263.36
							Entity Tota	al:	\$12,263.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$12,263.36
Bennett									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	828	1,238	35	2,101	\$2,626.25	ФЕО 04	CO 500 04	0.70	\$1,796.86
		- ;		_,	ψ2,020.25	\$59.31	\$2,566.94	0.70	<i><i>ϕ</i> 1,1 00100</i>
		,		_,	ψ2,020.23	\$39.3T	۶۲,566.94 Entity Tota		\$1,796.86
				_,	φ2,020.23	\$39.3T		al:	
				_,	ψ2,020.23	\$39.3 I	Entity Tota	al: nt:	\$1,796.86
Bon Homme				_,	ψ2,020.23	\$ 5 9.3 I	Entity Tota Adjustmer	al: nt:	\$1,796.86 \$0.00
Bon Homme Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Entity Tota Adjustmer	al: nt:	\$1,796.86 \$0.00

Entity Total: \$4,932.60

Adjustment: \$0.00

Total Amount: \$4,932.60

Brookings

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	8,941	22,945	1,483	33,369	\$41,711.25	\$870.28	\$40,840.97	0.70	\$28,588.68
							Entity Tota	ıl:	\$28,588.68
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$28,588.68
Brown									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	7,536	27,936	1,082	36,554	\$45,692.50	\$995.16	\$44,697.34	0.70	\$31,288.14
							Entity Tota	d:	\$31,288.14
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$31,288.14
Brule									
Reporting Period	Telecom Lines	Wireless I ines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,097	4,047	73	6,217	\$7,771.25	\$162.40	\$7,608.85	0.70	\$5,326.20
							Entity Tota	ıl:	\$5,326.20
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$5,326.20

Buffalo

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	513	485	1	999	\$1,248.75	\$25.07	\$1,223.68	0.70	\$856.58
							Entity Tota	l:	\$856.58
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$856.58
Butte									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,967	6,931	177	9,075	\$11,343.75	\$245.28	\$11,098.47	0.70	\$7,768.93

							Entity Tot	al:	\$7,768.93
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$7,768.93
Campbell									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	570	1,350	16	1,936	\$2,420.00	\$49.89	\$2,370.11	0.70	\$1,659.08
							Entity Tot	al:	\$1,659.08
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$1,659.08
Charles Mix									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,226	5,682	14	7,922	\$9,902.50	\$200.46	\$9,702.04	0.70	\$6,791.43
							Entity Tot	al:	\$6,791.43
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$6,791.43
City of Box Elder, M	eade Co								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	34	2,995	111	3,140	\$3,925.00	\$79.93	\$3,845.07	0.70	\$2,691.55
							Entity Tota	al:	\$2,691.55
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$2,691.55
City of North Sioux	City, Uni								
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	547	3,141	82	3,770	\$4,712.50	\$109.77	\$4,602.73	0.70	\$3,221.91
							Entity Tota	al:	\$3,221.91
							Adjustme	nt:	\$0.00
							Total Amo	unt:	\$3,221.91

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount	
4/2023	3,013	11,624	269	14,906	\$18,632.50	\$388.39	\$18,244.11	0.70	\$12,770.88	
							Entity Tota	l:	\$12,770.88	
							Adjustmen	t:	\$0.00	
							Total Amou	ınt:	\$12,770.88	
City of Sioux Falls, I	Lincoln (
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount	

Reporting Period	Telecom Lines		Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Percent	
4/2023	3,858	29,289	3,442	36,589	\$45,736.25	\$956.71	\$44,779.54	0.70	\$31,345.68
							Entity Total	:	\$31,345.68
							Adjustment	:	\$0.00
							Total Amou	nt:	\$31,345.68

Clark

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,049	2,453	96	3,598	\$4,497.50	\$99.28	\$4,398.22	0.70	\$3,078.75
							Entity Tota	I:	\$3,078.75
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$3,078.75

Clay

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,400	7,966	224	9,590	\$11,987.50	\$271.33	\$11,716.17	0.70	\$8,201.32
							Entity Tota	al:	\$8,201.32
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,201.32

Codington

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	5,634	20,715	834	27,183	\$33,978.75	\$723.25	\$33,255.50	0.70	\$23,278.85

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$23,278.85
Corson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	875	976	379	2,230	\$2,787.50	\$57.94	\$2,729.56	0.70	\$1,910.69
							Entity Tota	al:	\$1,910.69
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,910.69
Custer									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,838	6,523	102	9,463	\$11,828.75	\$267.89	\$11,560.86	0.70	\$8,092.60
							Entity Tota	al:	\$8,092.60
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$8,092.60
Davison									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	3,937	14,962	615	19,514	\$24,392.50	\$510.59	\$23,881.91	0.70	\$16,717.34
							Entity Tota	al:	\$16,717.34
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$16,717.34
Day									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,618	3,691	68	5,377	\$6,721.25	\$138.33	\$6,582.92	0.70	\$4,608.04
							Entity Tota	al:	\$4,608.04
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$4,608.04
Deuel									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

4/2023	1,325	3,135	104	4,564	\$5,705.00	\$118.88	\$5,586.12	0.70	\$3,910.28
							Entity Tota	ıl:	\$3,910.28
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$3,910.28
Douglas									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,034	2,212	7	3,253	\$4,066.25	\$85.44	\$3,980.81	0.70	\$2,786.57
							Entity Tota	ıl:	\$2,786.57
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$2,786.57
Edmunds									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,025	2,972	59	4,056	\$5,070.00	\$102.45	\$4,967.55	0.70	\$3,477.29
							Entity Tota	ıl:	\$3,477.29
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$3,477.29
Fall River									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,549	5,056	34	7,639	\$9,548.75	\$198.23	\$9,350.52	0.70	\$6,545.36
							Entity Tota	ıl:	\$6,545.36
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$6,545.36
Faulk									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	620	1,561	20	2,201	\$2,751.25	\$55.98	\$2,695.27	0.70	\$1,886.69
							Entity Tota	ıl:	\$1,886.69
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,886.69

Grant

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,547	5,621	239	7,407	\$9,258.75	\$215.57	\$9,043.18	0.70	\$6,330.23
							Entity Tota	l:	\$6,330.23
							Adjustmen	t:	\$0.00
							Total Amou	int:	\$6,330.23

Gregory

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,418	3,621	9	5,048	\$6,310.00	\$145.76	\$6,164.24	0.70	\$4,314.97
							Entity Tota	l:	\$4,314.97
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$4,314.97

Haakon

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	871	1,366	3	2,240	\$2,800.00	\$56.51	\$2,743.49	0.70	\$1,920.44
							Entity Tota	ıl:	\$1,920.44
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,920.44

Hamlin

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,237	4,112	116	5,465	\$6,831.25	\$138.53	\$6,692.72	0.70	\$4,684.90
							Entity Tota	l:	\$4,684.90
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$4,684.90
Hand									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	899	2,648	34	3,581	\$4,476.25	\$97.58	\$4,378.67	0.70	\$3,065.07

							Entity Tota	al:	\$3,065.07
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,065.07
Hanson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	704	3,185	61	3,950	\$4,937.50	\$109.99	\$4,827.51	0.70	\$3,379.26
							Entity Tota	al:	\$3,379.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,379.26
Harding									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	603	850	2	1,455	\$1,818.75	\$46.99	\$1,771.76	0.70	\$1,240.23
							Entity Tota	al:	\$1,240.23
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,240.23
Hughes									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	542	3,224	355	4,121	\$5,151.25	\$142.41	\$5,008.84	0.70	\$3,506.19
							Entity Tota	al:	\$3,506.19
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,506.19
Hutchinson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,376	5,319	58	7,753	\$9,691.25	\$196.70	\$9,494.55	0.70	\$6,646.19
							Entity Tota	al:	\$6,646.19
							Adjustmer	nt:	\$0.00

Total Amount:

\$6,646.19

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	566	1,082	13	1,661	\$2,076.25	\$42.09	\$2,034.16	0.70	\$1,423.91
							Entity Tota	I:	\$1,423.91
							Adjustmen	t:	\$0.00
							Total Amou	ınt:	\$1,423.91
Jackson									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	540	996	26	1,562	\$1,952.50	\$39.40	\$1,913.10	0.70	\$1,339.17
							Entity Tota	ıl:	\$1,339.17
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$1,339.17

Jerauld

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	696	1,399	20	2,115	\$2,643.75	\$53.09	\$2,590.66	0.70	\$1,813.46
							Entity Tota	l:	\$1,813.46
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,813.46

Jones

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	423	694	4	1,121	\$1,401.25	\$29.18	\$1,372.07	0.70	\$960.45
							Entity Tota	ıl:	\$960.45
							Adjustmen	it:	\$0.00
							Total Amo	unt:	\$960.45
Kingsbury									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	795	4,052	352	5,199	\$6,498.75	\$153.82	\$6,344.93	0.70	\$4,441.45
							Entity Tota	al:	\$4,441.45

Adjustment: \$0.00

Total Amount:

\$4,441.45

Lake

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,149	9,297	196	11,642	\$14,552.50	\$322.79	\$14,229.71	0.70	\$9,960.80
							Entity Tota	d:	\$9,960.80
							Adjustmer	ıt:	\$0.00
							Total Amo	unt:	\$9,960.80
Lawrence									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	6,152	18,793	482	25,427	\$31,783.75	\$672.64	\$31,111.11	0.70	\$21,777.78
							Entity Tota	d:	\$21,777.78
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$21,777.78
Lincoln									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	3,003	26,357	2,335	31,695	\$39,618.75	\$868.22	\$38,750.53	0.70	\$27,125.37
							Entity Tota	ıl:	\$27,125.37
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$27,125.37
Lyman									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,014	1,838	378	3,230	\$4,037.50	\$86.12	\$3,951.38	0.70	\$2,765.97
							Entity Tota	d:	\$2,765.97
							Adjustmer	it:	\$0.00
							Total Amo	unt:	\$2,765.97
Marshall									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,269	3,102	71	4,442	\$5,552.50	\$126.53	\$5,425.97	0.70	\$3,798.18

							Entity Tota	al:	\$3,798.18
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,798.18
McCook									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,590	4,421	45	6,056	\$7,570.00	\$156.10	\$7,413.90	0.70	\$5,189.73
							Entity Tota	al:	\$5,189.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,189.73
McPherson									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	829	1,585	5	2,419	\$3,023.75	\$73.23	\$2,950.52	0.70	\$2,065.36
							Entity Tota	al:	\$2,065.36
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,065.36
Meade									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,708	19,882	194	22,784	\$28,480.00	\$611.06	\$27,868.94	0.70	\$19,508.26
							Entity Tota	al:	\$19,508.26
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$19,508.26
Mellette									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	506	785	3	1,294	\$1,617.50	\$33.10	\$1,584.40	0.70	\$1,109.08
							Entity Tota	al:	\$1,109.08
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$1,109.08

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	854	1,738	21	2,613	\$3,266.25	\$69.41	\$3,196.84	0.70	\$2,237.79
							Entity Total	:	\$2,237.79
							Adjustment	:	\$0.00
							Total Amou	int:	\$2,237.79
Minnehaha									

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	32,611	162,523	7,863	202,997	\$253,746.25	\$5,508.17	\$248,238.08	0.70	\$173,766.66
							Entity Tota	I:	\$173,766.66
							Adjustmen	t:	\$0.00
							Total Amou	unt:	\$173,766.66

Moody

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	874	4,918	182	5,974	\$7,467.50	\$169.41	\$7,298.09	0.70	\$5,108.66
							Entity Total	:	\$5,108.66
							Adjustment	:	\$0.00
							Total Amou	nt:	\$5,108.66
Pennington									
Reporting Period	Telecom Lines	Wireless Lines	VOIP	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity	Entity Amount

-	Percent	-		-		Lines			
\$96,635.27	0.70	\$138,050.38	\$3,054.62	\$141,105.00	112,884	4,026	88,943	19,915	4/2023
\$96,635.27	tal:	Entity Tota							
\$0.00	ent:	Adjustmen							
\$96,635.27	ount:	Total Amo							

Perkins

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,544	2,302	4	3,850	\$4,812.50	\$107.22	\$4,705.28	0.70	\$3,293.70

\$3,293.70

							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$3,293.70
Potter									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	912	1,998	10	2,920	\$3,650.00	\$73.71	\$3,576.29	0.70	\$2,503.40
							Entity Tota	al:	\$2,503.40
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,503.40
Roberts									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,842	5,386	23	8,251	\$10,313.75	\$232.34	\$10,081.41	0.70	\$7,056.99
							Entity Tota	al:	\$7,056.99
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$7,056.99
Sanborn									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	679	1,824	23	2,526	\$3,157.50	\$66.46	\$3,091.04	0.70	\$2,163.73
							Entity Tota	al:	\$2,163.73
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$2,163.73
Spink									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,536	4,670	164	6,370	\$7,962.50	\$164.01	\$7,798.49	0.70	\$5,458.94
							Entity Tota	al:	\$5,458.94
							Adjustmer	nt:	\$0.00
							Total Amo	unt:	\$5,458.94
Stanley									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount

4/2023	600	2,300	273	3,173	\$3,966.25	\$83.23	\$3,883.02	0.70	\$2,718.11
							Entity Tota	ıl:	\$2,718.11
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$2,718.11
Sully									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	525	1,223	4	1,752	\$2,190.00	\$43.79	\$2,146.21	0.70	\$1,502.35
							Entity Tota	ıl:	\$1,502.35
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$1,502.35
Todd									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	0	136	1	137	\$171.25	\$13.54	\$157.71	0.70	\$110.40
							Entity Tota	ıl:	\$110.40
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$110.40
Tripp									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,926	4,161	138	6,225	\$7,781.25	\$159.46	\$7,621.79	0.70	\$5,335.25
							Entity Tota	ıl:	\$5,335.25
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$5,335.25
Turner									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,659	6,655	167	8,481	\$10,601.25	\$217.90	\$10,383.35	0.70	\$7,268.35
							Entity Tota	ıl:	\$7,268.35
							Adjustmen	ıt:	\$0.00
							Total Amo	unt:	\$7,268.35

	nin	n
U	IIIU	n

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	2,094	11,644	672	14,410	\$18,012.50	\$446.78	\$17,565.72	0.70	\$12,296.00
							Entity Tota	l:	\$12,296.00
							Adjustmen	t:	\$0.00
							Total Amo	unt:	\$12,296.00
Walworth									

Walworth

Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	1,515	3,727	450	5,692	\$7,115.00	\$144.42	\$6,970.58	0.70	\$4,879.41
							Entity Total	:	\$4,879.41
							Adjustment	:	\$0.00
							Total Amou	nt:	\$4,879.41
Yankton									
Reporting Period	Telecom Lines	Wireless Lines	VOIP Lines	Total Lines	Surcharge	Admin Fee	Net Surcharge	Entity Percent	Entity Amount
4/2023	4,018	17,772	407	22,197	\$27,746.25	\$593.53	\$27,152.72	0.70	\$19,006.90
							Entity Total	:	\$19,006.90
							Adjustment	:	\$0.00
							Total Amou	nt:	\$19,006.90

TOTALS	167,850	653,278	29,296	850,424	\$1,063,030.00	\$22.952.62	\$1,040,077.38
I O I / LO	101,000	000,210	20,200	000,121	ψ1,000,000.00	ΨLL,00LIOL	ψ1,040,011.00